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Topic:- General Knowledge

1) Union Ministry of Human Resource Development (HRD) has announced that two of India’s most popular
competitive exams, Joint Entrance Examination (JEE) and National Eligibility and Entrance Test (NEET) will be
conducted by: /

P A A1 AT HAme (TR A v & @ f WRd @ & 99 die iy ufaanh uieng,
g A Uhe (91$%) SR Iy aigan ok waw wden (+fie) fre gr s @t et

1. Indian Certificate of Secondary Education (ICSE) / YR qreafies fRrefm garoras (Hﬁ?ﬁ'@_&s
2. Indian Institutes of Technology (IIT) / YR Uit T (31T§ 31'['&%:])

3. National Testing Agency (NTA) / TI@H PR Q@?ﬂ (Q:I_Cﬂ'Q)

4, Central Board of Secondary Education (CBSE) / Pt Hreafie e ae Gﬂﬁﬂﬂﬂg)

Correct Answer :-

« National Testing Agency (NTA) / TI'QTC[ TRI&07 Toldi! (THCIT)

2) The first phase Shakti Sthala solar park having total capacity of 2000 megawatts (MW) was inaugurated in
drought-prone Pavagada region of Tumkur district. It is in which state? /

TIHR o1 & JE-g U uranTe &3 | 2000 TTETE (THSSR]) B $d ST aTd YUYW TRUT Jfodd RIA AR
UTd T IguTe g3, 5t i Iva df R 22

1. Odisha / anfeam

2. Andhra Pradesh / 3118/ U&=
3. Karnataka / Bl

4. Telangana / U

Correct Answer :-

o Karnataka / Hlch

3) who among the following was the 3" Chief Minister of Madhya Pradesh? /
Frafafa d @ o9 a9 wex & T gerEh 82

1. Shri Kailashnath Katju / %ﬁ%m:num

2. Mr. Bhagwantrao Mandloi / %ﬁlrrman—s?ﬁ's‘

3. Pt. Dwarka Prasad Mishra / U. WW%&H

4. Pt. Ravi Shankar Shukla / U. T%WW

Correct Answer :-



« Shri Kailashnath Katju / 4T SaTRMTY BTeg]

4) Ghoomar is a traditional social folk dance of which Indian state? /
TR 5 yRda Tu &1 TRuike e dte 99 82

1. Rajasthan / XTSTRYT

2. Gujarat / ToR_Td

3. Assam / 3IH

4. Punjab / USTTS

Correct Answer :-

« Rajasthan / XTSI

5) ‘Jago Grahak Jago’ awareness campaign is run by which of the following institutions? /

fr=fofeEd 3 9 f SR §RT RN A8 NP SIRRSSdT SITHAT Farar T

1. Securities and Exchange Board of India (SEBI) / WQﬁf?{% IR e g (@aﬂ)

2. National Agricultural Cooperative Marketing Federation of India Ltd (NAFED) /
YR Iy B TR fauvH Iy waffed (Guumse)

3. Food and Agriculture Organization / TT€] AR w UK

4. Forward Market Commission / GG STOlR 3{TANT (EFT?TTS: HThe m:[)

Correct Answer :-

« Forward Market Commission / ATIGT STOTR 3TN (PIRAS HIdhC HHIM)

6) The first Indian general elections were held in the year____ ./

YU URAIT ATH gA1d-1 &1 ad o amaifora fosar mar AT
1. 1952-53

2.1951-52

3. 1950-51

4. 1950-52

Correct Answer :-

« 1951-52

7) The Sironj city in Madhya Pradesh comes under ____ of the Seismic Zones classification. /
Teave Rt § RRIW wer youita & aiffevu & & 3faifa STar gl

1. Zone I/ &A1

2. Zone V/8AV

3. Zone I/ &F 11

4. Zone 111 / & 111



Correct Answer :-

« Zonell/&F1I

8) The Jain Monk Tarun Sagar was bornin ______ district of MP. /
ST 1Y TV AR BT 7 H TEUS & o dgamam
1. Dewas / GaT

2. Morena / Eﬁ‘vﬂ

3. Damoh / GHI

4, Agarmalwa / S{TIR HIcIdT

Correct Answer :-

e Damoh/ aﬂﬁg

9) The first Railway station to be privatized in India is located in: /

YR | feftesor i wan vgean Yod wwH g8 fRa &:
1. Ttarsi / SERYT

2. Ganeshganj / TTOIRITSl

3. Habibganj / §elaTIol

4. Khajuraho / GSRT81

Correct Answer :-

. Habibganj / GaT&TIof

10) The Japanese Industrial Township is to be established at _ in Madhya Pradesh. /
AW § AU SN ersfRi # wuTfia 1 st

1. Pithampur / tﬁw

2. Singrauli / RIFTRYEH

3. Katni / et

4. Bina / &HT

Correct Answer :-

« Pithampur / Tﬁw

11) How many national annual plans have been introduced so far? /
it Ity aTfifes FierTe e a& wRaTfad &t 7S 82

1.7

2.5

3.4

4.6



Correct Answer :-

12) Nauradehi Sanctuary is located in which district of Madhya Pradesh? /
" Uew & forw Rrd § AR sy fRua 82

1. Baghelkhand / TUAWGUS

2. Gwaliyar / TaTfeRR

3. Sagar / g

4. Rewa /31dl

Correct Answer :-

o Sagar /I9NR

13) Where was the ‘Friends of MP summit’ held in Jan 2018? /
a3 2018 H Thgd ATE THYT Afe i maiford favar mar u1?
1. Indore / ?Cﬁ?

2. Ujjain / o

3. Gwalior / IR

4. Bhopal / U

Correct Answer :-

e Indore/ 3@?

14) Name the fabric woven with silk and cotton yarns and patronized by Rani Ahilya Bai Holkar. /

T ifgeaTaTs Sy ERT WRiEE YW 3R Gl 4T & Wi g7 §UHUS BT A9 gard|
1. Maheshwari Saree / Hg%%} TSt

2. Tussar Saree / TOR TS

3. Batik Print / §Tfc b flie

4. Nandna Print / e fiie

Correct Answer :-

o Maheshwari Saree / Il%%]ﬁ Flfﬁ

15) Name the city in Madhya Pradesh that has been ranked 2" in the 2018 annual Government Swachh
Survekshan survey. /

A Y H 2018 & AT IS 1Y TS HAETUT 94 F GO VI IR W W qTe ER PT A T4 |
1. Indore / $GR

2. Ujjain / IS0

3. Gwalior / TdTICTAR



4. Bhopal / UgTel

Correct Answer :-

« Bhopal / T

16) Pandit Shiv Kumar Sharma is a maestro of which classical music instrument? /
UfEa Rapur i f$a Iy @i are 93 & 3w 82

1. Sitar / AR

2. Sarod / TRIG

3. Santoor / YR
4. Veena / 10T

Correct Answer :-

« Santoor / X

17) Which of the following is the state bird of Madhya Pradesh? /

FrafafEa # & 919 9w v &1 vwietd ueh 82

1. Asian Paradise Flycatcher / gURTS YT eI geldcd (Q'&I'Cﬂé PRSES] WI%WT)
2. Great Hornbill / FIgTERT (e g

3. Indian Bustard / STVl (3ST S9)

4. Indian Roller / AIAI$h S (5%?1? m

Correct Answer :-

. Asian Paradise Flycatcher / GURTS! IT JeaITT §agel (TRMATS IRISTSS WARH )

18) Which of the following is the only species of Tortoise found in Madhya Pradesh? /
g wer ¥ Ffafaa o @ #i9 f vgu &t veus ysfaar urg 182

1. Geochelone elegans | ISEIEINIG] Qﬁlﬁﬂ

2. Kachuga dhongoka [ PG ARIED

3. Nilssonia hurum /ﬁﬂ@ﬁtﬂ g

4. Chitra indica /ﬁﬁﬂm

Correct Answer :-

o Geochelone elegans | ISEIEINIG] U NUEs

19) Which of the following government institutes estimated the percentage of farm waste in India? /
Frafafea ¥ 9 g e 4R 3 URd 8§ Y iRy & ufawa &1 sgaH aman
1. Food and Agriculture Organization (FAO) / WTel 3R HfY TTa+ (THU3M)

2. Central Institute of Post Harvest Engineering & Technology (CIPHET)/



3. National Agricultural Cooperative Marketing Federation of India Ltd (NAFED) /
YR AT BN FegdRt fquur Ig qaffed (TTuumssh
4. Forward Market Commission (FMC) / didql dleR SR (THEHRT)

Correct Answer :-

« Central Institute of Post Harvest Engineering & Technology (CIPHET)/

P Bers IR @B Td M) T @erdigagd)

20) Which of the following type of soils is made up of deposition by rivers, and is rich in potash but poor in
phosphorus? /

?ﬁ@aﬁﬁaﬁq@ﬂﬁ@,ﬂﬁﬁ%mﬁﬁﬁ?ﬂi@ﬁmﬁmamﬁaﬁmwmﬁwmﬁm

1. Laterite soil / m ﬁl@of

2. Black soil / &Tail gt

3. Alluvial soil / STqlG g

4. Red and yellow soil / ¢lc] 3R diteft ﬁl@

Correct Answer :-

« Alluvial soil / STl fAg

Topic:- General Hindi

1) g4 & e u vafgarh arat 2=l 9 ufda &1 gfwl
1. G, IR, TRY

2.3, &R, 39

3. g, &R, TR

4. T, &R, TRY

Correct Answer :-

2) WA RRMua R THE - AR A IsTmEm e
1. HfRT ™

2. IEYA Y

3. Al XY

4, RN XH

Correct Answer :-

. Yfaa g

3) 3R =T - YTk 31 3 g e A A P AR



1. AT G

2. IR 9 8 W I g
3. AT Ut g

4. gAY B

Correct Answer :-
. SHARTEH
4) 37 - TG | T Ok P A S S AT g2
1. 3141
2. ey
3. 3MTUf
4. 39

Correct Answer :-

5) TH - T g TU A I P A1R?
1. gfTe
2. gf TS
3. gfTor
4. TS

Correct Answer :-

6) SRIFGIRT - BT IR g Fa A A ST
1. ¥ ¥ fAda

2. o1 ¥ faffa

3. G¥ & fore T

4. SR MRI

Correct Answer :-

. X9 e

7) 3aa1 & e 9 yaigarh are 2ss) Ft ufed &1 gfw)
1. 3R, 3R, Td

2. IR, 3R, 3G

3. 3R, 3OIR, 3

4. T, 3foR, fagy



Correct Answer :-

8) IEEY - PTG s FaAd s ?
1. X8 BT T

2. 7B & faw T

3.8 & e @ d

4. 381 & fo @

Correct Answer :-

N ANECE]

9) HTY - P15 U A A I PTATR?
1. 9T

2. XM

3. IR

4. Y19

Correct Answer :-

10) oY TR A TSI AT W’ & o U W P A A B ATR?
1. A
2. gar
3. guTed
4. guTST

Correct Answer :-

11) D! TP T $T arar F ol 0 Tg P A A P AR
1. ARt

2. TR

3. AT

4.

Correct Answer :-

12) Ufq - ST A T Asg FA A A P AT R?



1. fOfcger
2. UTicTges
3. Uifcger
4. gfcrags

Correct Answer :-

. Tfdues

13) Hay- & g wgt WY fawse & gfw)
1. gH+GY

2. T+

3. gH+TT

4, JH+I

Correct Answer :-
o gH+AYU

14) Ufd® - o1 A & 9§ 319 91 wE faeiv s 32

1. 3fw5h

2. 35T

3. 3fsH

4. 3fEH

Correct Answer :-

15) V9 - &1 e § I B9 w1 9 faam wrsg 32
1. !

2. St

3. Q19

4. TS

Correct Answer :-

16) HUR - & fore wdht wfY fasdg =t gfu
1. GHHER

2. g+IR

3. gHAIR

4, YAHOR



Correct Answer :-
o JHHAR

17) 3fY - It A oeg P A AP AT 2

1. e

2. 3ffagg

3. 3@

4. SNTAgE

Correct Answer :-
. i
18) fiet URU= ST GHUR, G Y81 g SUGaT 371
& 8 ) feell &1 ®a, 79 57 & Tare 11 - § o # § 919 971 SR 22
1. Sffa=AIfad SAdR
2. SUHT 3APR
3. IohIfad SABR
4. IHET DR

Correct Answer :-

. I PR

19) T US A8 AR A |

g4 3% UTS RUS HY, A I9T B B A

g 91g g 9e Mfe U, S A s et dl - A m A A s O 82
L 3gHd ¥

2. A ™

3. dIYE ™

4. YOS X

Correct Answer :-

. XA

20) gRUE FIT A F, St AT @ ¢d | - B 9 T J B A1 PR 32
1. AN SddR

2. SUHT 3ABR

3. Iohifad SABR

4. IAEM AR

Correct Answer :-



Topic:- General English

1) Choose the correct form of modal auxiliary verb for the given sentence:

| am carrying a heavy package and need help to deliverit. ______ you open the door for me, please?
1. Shall

2. Could

3. Should

4. Might

Correct Answer :-

« Could

2) Choose the most suitable determiner for the given sentence:
The hostess asked the chef, “Are there __ rotis for the guests?”

1. little

2. enough

3. much

4. few

Correct Answer :-

« enough

3) Choose the option that correctly sequences the following sentences:

. Skillful workers built cities around these temples.

. The Mayans believed in many gods.

. However, it was difficult for them to construct these cities.
. They built large temples to honour these gods.

AW N -

1. 1234
2.4132
3.3241
4.2413

Correct Answer :-

« 2413

4) Choose the option that best explains the highlighted expression:

The new engineer at the work site was able to solve the problem in two shakes.

1. with great difficulty



2. very enthusiastically
3. very handy
4. very quickly

Correct Answer :-

« very quickly

5) Choose the option that best transforms the given sentences into one.
All of us started quite early. We missed the first local train.

1. Although we started quite early, we missed the first local train.

2. Though we started quite early but we missed the first local train.

3. As we started quite early, we missed the first local train.

4. Whenever we started quite early, we missed the first local train.

Correct Answer :-

« Although we started quite early, we missed the first local train.

6) Choose the appropriate conjunction for the given sentence:

The villagers were unable to decide the case; _ they went to the Panchayat to take a decision.
1. then

2. so that

3. but

4. s0

Correct Answer :-

7) Choose the word that is opposite in meaning to the highlighted word given below:
We listened as he began to exaggerate his tales.

1. embelsih

2. envision

3. dramatise

4. understate

Correct Answer :-

« understate
8) Choose the appropriate prepositions for the given sentence:
Many people begin their 30s complete control their lives.

1. against, for



2. 1in, of
3. for, into
4. out of, from

Correct Answer :-

e in, of

9) Spot the error in the given sentence and choose the option that rectifies it.

These sheets are to wash.

1. These are sheets to washed.

2. These sheets are to washed.

3. These sheets are to be wash.

4. These sheets are to be washed.

Correct Answer :-

« These sheets are to be washed.

10) Choose the appropriate option that rewrites the given sentence in active voice.

Promises should be kept.

1. One should be keeping promises.
2. One is keeping one’s promises

3. One should keep promises.

4. One is kept by one’s promises.

Correct Answer :-
« One should keep promises.

11) Choose the appropriate form of the tense for the given sentence.

When John at the university in 2010, Mr. Richard there for 20 years.

1. enrolled, had taught

2. had been enrolled, had taught
3. had enrolled, had been teaching
4. had enrolled, had taught

Correct Answer :-

« enrolled, had taught

12) Choose the appropriate form of the tense for the given sentence.
There many objections to the new bill.

1. has

2. are



3. was
4.1s

Correct Answer :-

13) Choose the appropriate articles to complete the given sentence.
___dogis aloyal animal. But, _____ cat is self-centered.

1. The, the

2. The, an

3. A, an

4. An, the

Correct Answer :-
o The, the

14) Choose the appropriate prepositional phrase to complete the given sentence.
Hedidit_____ for their service.

1. over gratitude

2. from gratitude

3. of gratitude

4. in gratitude

Correct Answer :-
« in gratitude

15) Choose the option with the appropriate prefix to complete the given sentence.
He is indulging in ____legal activities at night and will be caught by the police soon.
1. un-

2. non-

3. mal-

4. il-

Correct Answer :-

o il-

16) Choose the option that best punctuates the given sentence:
You will not go to the park so late at night said Dad

1. “You will not, go to the park so late at night,” said Dad.

2. “You will not go to the park so late at night,” said Dad.

3. “You will not go? to the park so late at night,” said Dad.



4. “You will, not go to the park, so late at night,” said Dad.

Correct Answer :-

« “You will not go to the park so late at night,” said Dad.

17) Choose the option that best transforms the sentence into passive voice:
Accenture employs three thousand people.

1. Three thousand people employ Accenture.

2. Three thousand people are employed by Accenture.

3. Three thousand Accenture are employed by people.

4. Accenture is employing three thousand people.

Correct Answer :-

 Three thousand people are employed by Accenture.

18) Choose the correct form of verb that is in agreement with the subject:

Every child, normal or otherwise, love and care and that him feel secure.

1. does need, is making
2. is needing, is making
3. need, make

4. needs, makes

Correct Answer :-

« needs, makes

19) Choose the correct form of the verb to complete the given sentence:
Kiran promised to help me but later he

1. back off

2. backed in
3. backed out
4. back up

Correct Answer :-

o backed out

20) Choose appropriate articles for the given sentences:

super moon occurs when moon'’s orbit is at its closest to Earth and at same time it is full.

1. A, the, the
2. A, the, a
3. The, a, the

4. The, an, the



Correct Answer :-

. A, the, the

Topic:- General Mathematics

1) Express the radius of a circle with diameter (4/ +2). /
T (4/ +2) TTS T g 1 FHrear grd H

, (al+2)x2

2.(4£+2j X 4

4l+2
3. 4

41 +2
4. 2

Correct Answer :-

2) The ratio of A’s present age with A’s age 10 years from now is 4:5. What is A’s present age? /
A P AU IU TF 10 T UYT B IH BT U 4:5 B | A Pt TAU ST FATR?

1. 35 years / 35 Gl

2. 45 years / 45 CL

3. 30 years / 30 Gl

4. 40 years / 40 Gl

Correct Answer :-

. 40 years / 40 Y

3) Subtract (+103) from (-95). /
(-95) H A (+103) U

1.8

2.198

3.-198

4. -8

Correct Answer :-

« -198

4) If 20 men can build a bridge in 24 days, then 32 men can build two of such bridges in how many days? /

gfe 20 U39 TH Ya &1 A7 24 AT #2 Ipd §, 1 32 790 T &1 gait &1 fAfor fpam faa o s



1. 30 days / 30 fa=
2.24 days / 24 fa
3.20 days / 20 f&
4. 15 days / 15 fam

Correct Answer :-

« 30days/30feT

5) Three cubes of side 4 cm each are joined end to end to form a cuboid. The surface area of the resulting cuboid
and total surface area of the three cubes are in the respective ratio of .

TR J Yo a1 AP 9 79 TP g1 A I W 3 9 S §U 8 | TR a1y #1 gdig eewd SR
i paySedTra®a:  H U gl

1.7:9
2.7:3
3.1:1

4.9:7

Correct Answer :-

6) Among four of the given numbers, three are alike in a certain way and hence form a group. Which one of the
following does not belong to that group?
21, 35, 49, 63

fFafafEa ar wensi & & @7 Jent ve Hfia v 3 3um § vd gafin ue agg a9 81 Fafafaa §
q 98 P 8, S 39 THE W afta T8 82

21, 35, 49, 63
1.21
2.63
3.35

4.49

Correct Answer :-

. 49

7) Babu bought a cupboard for Rs. 2500 and sold it for Rs. 3500. Find the loss or gain percentage. /

1Y A 2500 FUY H TH AU WS N7 39 3500 FUC H 39 faam| g1 sryam @y wfasra 3a #¥1
1. 36%

2.28%

3.25%

4. 40%

Correct Answer :-



8) If John’s cat eats 1106g of cat food a week, then how much cat food does it eat in a day? /

g S ot faeell, T 9w § 1106 ITH WIS @It 8, @ v fa # a8 fovaan HieH @t 82
1. 160g/ 160 IH

2.221g /221 91H

3.92g /92 UH

4.158g/ 158 UH

Correct Answer :-

. 158g/158 I1H

9) Find the smallest square number that is divisible by each of the numbers 6, 7 and 15. /
9% Ha DI T WM I B, il 6, 7 T 15 TP § fAHa g

1. 22560

2.630

3. 44100

4. 396900

Correct Answer :-

« 44100

10) Mary sold squid for Rs. 80 per kg and earned Rs. 960 at the end of the day. How many kg of squid did she
sell? /

A A 80 vuT ufafre wWie ITH: 39 F 3id # 960 UL 3ifsfa frw| 39 foraq feur fvs a2
1. 18 kg / 18 fopel

2.12 kg / 12 fopalt

3.0.83 kg / 0.83 fopall

4.14 kg / 14 fBal

Correct Answer :-

. 12kg/ 12 fFHar

11) Which one of the following equations is not satisfied by the point (-4,8)? /
fFafafea & 3 o a1 afiero, f§g (4,8) F Ige T 82

1. 2x+3y=16

2. 3x+2y=4

3. x+2y=12

4, 3x-y=20



Correct Answer :-

12) Which one of the following numbers is the smallest? /
frafafea & 9 o1 9 den 9ed odl 82

1. 55734

2. 55347

3. 55437

4. 57543

Correct Answer :-

» 55347

13) A table was bought for Rs. 2000 and sold for Rs. 1800. Find the loss percent. /

T A9 2000 TUT § W1 74T 3R 1800 9T A 99 far mam g1 ufawa gra &3
1. 15%

2.12%

3.5%

4. 10%

Correct Answer :-

« 10%

14) Ewvaluate / EFI‘\FCIW &

11x(-34)-12x34+(-34)x(-24)
(—10)+(-7)

If m = -3, then find the value of
m-m{3—5m)
m

15) m-m(3—5m) /
— ek

g m=-3.ar & HS AT Hal



4. 19

Correct Answer :-

. -17

16) Solve /gel shifaT:

(23=33)2x9x 4
1. 6
2 613
3, 6°

4 gl2

Correct Answer :-

17) Solve /g FIfaT
(18x45)"

1. 597897250
2.531251670
3.531441000
4. 576824400

Correct Answer :-

» 531441000

18)

I
— lies between: [
12

|
(=1
I
S
|
|

4.



19)

The area of a square plot is 64m?. Find the perimeter of the plot. /

U dallER Telie & alAha 64 #1° 1 ceic i aRfE A 1

1. 16m/ 16 H
2.32m /32 ¥t
3.8m /8 H

4. 64m / 64 A

Correct Answer :-

. 32m/327H

20)

If §+%:]2 and ?—%:19 . then find the value of x and v. /
afe %4.%:12 g 4?"_13;19,33 X Td y & AT AT |

1.x=-18,y=-15

2.x=8,y=5
3.x=18,y=15
4.x=-8,y=-5

Correct Answer :-

Topic:- General Science

1) Which of the following is the best source of light that consumes the least amount of energy? /

frafefad & Q S19 91 ST 1 999 33T 9Id 8, Sl $H I BH ol P @Ud Bl 82
1. LED / Uds !
2. Filament lamp/ﬁfﬁm}fam

3. CFL / €iuthud
4, Fluorescent lamp / TR

Correct Answer :-

« LED/ Qalég|

2) |dentify the feature that is applicable to acute diseases. /

TR Sl W A g9 are A& $t ugaE B

1. Recovery is slow. | Repadt ‘Eﬁﬁ[a?‘ﬁ%l

2. Does not cause any major effect on general health. /WWW@E‘G@TUW?—E&U@T%I
3. Acute diseases result in death. /WWW%W%@W%I



4. The diseases last for a long duration. /WE@WWW%I

Correct Answer :-

« Does not cause any major effect on general health. /WWW@%WUWH@TU@T%I

3) The four whorls present in a bisexual flower are: /

T IYAferft wa & Hive IR Ui fA=

1. Sepal, pollen, corolla, and carpel / dlgl ad, UM, 3?1"3,5{ 3R 3y
2. Petal, sepal, carpel, and stamen /ITQ@, 9Tl <, 3fsU GﬁTW

3. Calyx, androecium, corolla, and gynoecium /g&?rm, WT(Q%A RATSHH), 3?1'—13;\_:[ 3R ST (ﬁl:ﬁ?ﬁ\?rm)
4, Ovule, pollen, petal, and calyx/m, TR, qqs‘T Gthﬁqm

Correct Answer :-

« Calyx, androecium, corolla, and gynoecium /g&rm, ng (Qé RATSHH), EFT-EI;GT 3R SR (WGITI)

4) Growing two or more crops simultaneously on the same field in a definite pattern is known as: /

T fAif3a O & v €t @a ¥ U a1y < a1 Y A e wadl S S A w8
1. Crop rotation / THd &1 ThIdHRUT (Sh1T JUCT)

2. Winter cropping / SffdeTel- BOd

3. Mixed cropping / T3 d Baa

4. Inter cropping / 3R T (S HITUT)

Correct Answer :-

« Inter cropping / 3R BId (SETW'D

5) Which of the following is a bilaterally symmetrical organism? /
Frafafaa & & o149 w1 fgurd-wwfafa sfia g2

1. Hydra / Bl gl

2. Sycon /FI%W\I%{

3. Starfish / ARTHI (TRIHT)

4. Earthworm /ﬁ&n

Correct Answer :-

« Earthworm /ﬁ&ﬂ

6) A diver is able to cut through in a swimming pool. Which characteristic property of particles of matter is
exhibited by this? /

gﬁmw%ﬁﬂ%ﬁmmﬁﬁv&mélﬁﬁ?mmzﬁ%WWﬁqwﬁﬁwwwﬁhﬁm

1. The interparticle forces of attraction in water are strong. / sIpike H'GQIW HTHYUI 9 Tad %I



2. The interparticle forces of attraction in water are weak. / U1 H 3fcR U STHYU ¢ FHOR B |
3. Particles of matter are continuously moving. / Uerdf & HU1 AR 1 o %I
4, Particles of matter cannot be seen with the naked eye. / Wﬁ% HUN BT T 3G I ﬂ%ﬁé@ SIT gohdT %I

Correct Answer :-

. The interparticle forces of attraction in water are weak. / T 8 S[cRTSU[H HYU §¢ HHOIR 5|

7) The rearview mirrors of the vehicle should produce: /

arg & uef® qdun (v fim) @1 ffHa s arfRe:

1. Inverted and diminished image / 3¢<cl 3R Bler ufafda

2. Enlarged and inverted image / 3ifirafifa ik Ieer ufdfdd

3. Enlarged and erect image / Sfftrafdfa ik Tter ufafde

4. Diminished, virtual and erect image / @ET, MR 3R e yfafss

Correct Answer :-

 Diminished, virtual and erect image / 33 cl, 3T YRT 3R e ufafss

8) The atmospheric nitrogen cannot be taken directly by plants and animals. Certain bacteria and blue green
algae present in the soil convert nitrogen into absorbable forms of nitrogen like .

IIgHS Y AATge oM, ﬁmﬁmﬁmﬁﬁﬁﬁmmélwﬁmwmﬁﬁﬁ
4T ATSE IS B ATSEISH & HaRNTD =i & yRafdd #3d 8, 99

1. nitrites and nitrates / TIREILCH 3R BIETRS
2. proteins / PICiE]
3. amino acids / A 3

4. nucleic acids / W 3T

Correct Answer :-

« nitrites and nitrates / TSCTSCH 3R ASCCH

9) In summer season, the top and outer surface of the house are painted white because: /
TR & AW #, R S 3R 168 Tag w1 wibe 11 i e @ wife:
1. White surface reflects more heat energy and absorbs less heat energy. /
Hihe e SMUH ST SHoll WRIdfid Bl ¢ SR HH ST Hull AR B g |
2. White surface absorbs more heat energy and reflects less heat energy. /
G g e ST Soll AR Bl & 3R HH HW SHoll WRidfd bRl g
3. It is cheaper and long lasting. /
I8 1 IR Al I P Fe arenl gidl 6|

4. It gives better appearance to the building. /

I8 TARA &I 98R ¥U S g |




Correct Answer :-

» White surface reflects more heat energy and absorbs less heat energy. /

The Jdg 3Hfh ST ol TRIdfad Bl & 3R HH HWT il Gt SRl 8|

10) Digestion of carbohydrates, proteins and fats is completed by the action of .
PaiggSe, MIdH 3R a9 &1 U o fpar A RIFAT |

1. intestinal juice / 31T TH

2. bile / fUt

3. pancreatic juice / 3R Y

4. gastric juice / 3THIRII XY

Correct Answer :-

« intestinal juice / 31 IH

11) Some salts absorb water from the atmosphere and dissolve in it. The property of these salts is: /

$O TN ITATaR0N A 0 P AN Fa & 3R I9H ga wra &1 39 daun @t e fakian @:
1. Dehydration / fFTeliaT (fSEESTM)

2. Evaporation / ATSIR0T

3. Deliquescence / TG

4. Hydration / STrITo (TS 9¥M)

Correct Answer :-

. Deliquescence / TRAG

12) Choose the INCORRECT statement about the characteristics of a chemical change. /

TS IS uRad< 3t faRiwarse & de v o e $Y= &1 799 HI
1. Properties of the products are different from that of reactants. / 3 Gl B! RIS BT B RD! A ST G|
2. New substances are formed. / ¢ UET‘&W fmtor B

3. Produces heat during the reaction. / SHfNfeRaT & SR ST UeT BT
4, Results in the energy change in most of the reactions. / UGSy Sifdreier siftfsrarst § Swit ulkad-|

Correct Answer :-

« Produces heat during the reaction. / YT & SR ST YT HRATI

13) For human ear, the range of audible frequency is: /
HHG & & fore, yor gy 3t W fA= gt @:

1. 2000 Hz to 10000 Hz / 2000 §EST ¥ 10000 ol

2. 20 Hz to 200 Hz / 20 ¢S ¥ 200 <ol

3. 20 Hz to 20000 Hz / 20 8¢9 J 20000 B



4.20 Hz to 10000 Hz / 20 ST ¥ 10000 BCof

Correct Answer :-

« 20 Hz to 20000 Hz / 20 BES ¥ 20000 BEST

14) Two charged bodies are kept at a distance of 10 cm apart. The forces acting in between them are: /
&l 3mafra ATl #1 10 Wft i g R VAT A1 71 39 A & ftg Bl ga A §

1. Gravitational force and electrostatic force / W’q §d 3R FRRR a'f\?{ﬂﬁ EN}

2. Nuclear force and electrostatic force / TN T 3R FRR aT‘arg,?r EN

3. Magnetic force and electrostatic force / ﬂ@ﬂﬂ’q I 3R RR a’f\ag,a ofct

4. Magnetic force and nuclear force / W I 3R THT T

Correct Answer :-

« Gravitational force and electrostatic force / W’q I 3R RR a'f\?{ﬂﬁ EKN}

15) In an experimental setup, the given substances like coconut oil, egg white, common salt and sand are mixed
thoroughly with water in four 250 ml beakers respectively. Which one of them will show Tyndall effect? /

TP TONTTASP A2y #, f3u 10 uerd S Aiad &1 99, i@ &t Hihd), ATYRYI THS 3R ¥d HH: 250
fireht ot TR B A U & T 3= A A3 fhd a1 I8 A 91 w1 fdsw yyia feamemm?

1. 20 mg of common salt in 200 ml of water. / 200 forcht ofdt o 20 2R 9= 06 |
2. 20 ml coconut oil in 200 ml of water. / 200 et 5@ # 20 forcl A1RTd &1 da|

3. 20 mg of sand in 200 ml of water. / 200 fA<ft ST T 20 i Xdl

4. 20 ml of egg white in 200 ml of water. / 200 forctt ot & 20 forelt ofS &t Tl

Correct Answer :-

« 20 ml of egg white in 200 ml of water. / 200 f&rell S/ T 20 el 3is &1 Tl |

16) When does the sea breeze occur? /

T TR w9 Terdt 82

1. During the night / XId ¥ SRM
2. During the day / f&T &% IRM
3. Throughout the day / U§ fa

4. Alternate days / Jofeus fom

Correct Answer :-

« During the day / TG & R

17) Which of the following is a homogeneous mixture? /

frafefad A @ 919 91 v gerdg fyor g2
1. Starch solution / T faag



2. Buttermilk in water / Ul § 8T8
3. Sugar in water / e o it
4. Sewage water / el BT U

Correct Answer :-

« Sugar in water / LIk il

18) The given distance—time graph represents: /

e T g wET WS g §

o Distance —w

Time =

1. A body moving with variable velocity / UfRad=i a1 & 1Y I 81 U (T
2. A body moving with constant velocity / fRR TS Ty Id el Udh e

3. A body at rest / fasm R T e

4. A body moving along a straight line path / et X1 9y & 1Y e X1 U Hpr

Correct Answer :-

. Abody at rest / T3y R I% g

19) Identify 1,2, 3 and 4 in the given picture of neuron. /

=i & Gu aw fx 7 1,2,3 3R 4 6 gg=ea F

1. 1. Nucleus 2. Dendrite 3.Axon 4. Motor end plate

1. 1T 2. g (STgTEC) 3. ARPIE (TRI) 4. HIC T8 Wi
2. 1. Cell body 2. Dendrite 3. Axon 4. Nerve ending /

1. DRI (@& a1EY) 2. w1 (S7818e) 3. dRA®TE (TaI) 4. ARHT Har™ (\1d T
3. 1. Cellbody 2.Axon 3.Dendrite 4. Nerve ending

1. PIRH1-US (& a1SY) 2. diwTe (Tar) 3. G (S81EC) 4. AR®I BArH (d T
4. 1. Cell body 2. Dendrite 3. Myelin sheath 4. Nerve ending

1. DRI (A a1EY) 2. DT (STSSC) 3. AIRICH 3MTB< 4. BT HANH (4 T=)




Correct Answer :-

+ 1.Cell body 2. Dendrite 3. Axon 4. Nerve ending /

1. BIRIBI-US (Fe dreh) 2. AT (STgIe) 3. AAeTe (THRA) 4. difFehT e (14 TR

20) An ion X2 contains 18 electrons and 20 neutrons. Name the element. /
UF S XHH 18 seEeld 3R 20 g 61 &1 dcd $I JA1H Jd1u)
1. Potassium / TR
2. Calcium / HieRTH
3. Magnesium / iRy
4. Argon / A

Correct Answer :-

« Calcium / BTRTH



